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Current RC input model:

Get Fi4, Fod, F1p, Fop from Bodek fit with R=0.18

Fin = Fiqa — F1p, Fon = F2q — F2p
Fia=ZxFip+ (A= 2)* Fin, Foa=Zx Fp +(A—Z) % P2,

0 = Omott(Foa/V + 2%?tan2(g)) x emcfac(x, A)

Problem:
@ It's not free neutron structure function;

@ Doesn't remove isoscalar correction in emcfac(x,A)
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Modified model:
o Know Foy;
e Get EMC ratio F2(3He), FQEH) or FQ(;‘:3) from model;
2d 2d 2d
F2(A 3)

o For , need to remove the isoscalar correction, which need
F2,,/F2p mput

3 3
o F2(3H€) = F2d X 7,:25_—2’:8), F2(3H) = F2d X 7F2,$—2:I)

To study the RC error:

o Fby: 1. Bodek: 2. NMC

o EMC ratio 22=2): 1. K&P; 2. FE Close, 7
Phys. Rev. D.31.1004 (1985); LN

® f>,/Fp: 3 curves and probably CJ15
o (R=o1/o1 ) (later..)
The RC error should be the changes by applying dlfferent models
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Compare the RC factor calculated previously with the one calculated by
modified model (Fo4 from Bodek and EMC from K&P)

H3/He3 born cross section ratio H3/He3 rad cross section ratio
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H3/He3 RC=born/rad ratio H3/He3 Before/After ratio
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